[(LEETNEFPH-BELEEXEER MHEFPHEFTNEEYY—EX Y—EXFAR]
2022.10. 1~
[EXp€) 17 A0HE

&

N 15 2l 3 &
EX#EAN

FRABE) 1,672 = 3,344 = 5 016
EXiE2

(FRABE) 3,428 M 6, 856 = 10, 284

(ESh#aER ENE] 14 A DHE

S . = e
P 1Z 2E| 3Z|

EX1E( 2
EE i 225 B 450 m 675

[b—EREHBIEMFA D )14 A O¥E

%}% == =] =

P 13 2 F| 33
EXE

($¥ﬂ§%) 12 M 144 M 216
EXiE2

(FRHEE) 144 M 288 M 432

[#2paHEE EGHIME] 14 A O &

pEE— 1] 2 & 3 &l
EXiEI-2
EEARD 40 = 80 M 120
[BECAHEBEDER]1TADHEE
2& = & &
pEEE 15l 2 &l 3 &l
EXEA
FRHBE) 2,009 ! 4,018 M 6, 027
EXiE2
FRABE) 3,837 M 7,674 = 11,511

* FRRHEICABREME (17 B ORSDOEE x5.9%) A MBEINET,
* FEHSICBTELERENE (178 DREDEE X 1.2%) AMEINET,
* PEHSICR—R 7y TEXIEMNE (17 AOHLSOEE X 1.1%) AIMESNET,

#tEEBUHEALERE
DUV DUV 7 TFTA

Ng: 12



